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Guess Paper - 2007    

ACCOUNTANCY

CLASS -XII
Time Allowed: Three Hours





         Maximum Marks: 80

PART-A


(Partnership and Company Accounts)

Q. 1. B and M are partners in a firm. They withdrew Rs. 48,000 and Rs. 36,000 respectively during the year evenly at the middle of every month. According to the partnership agreement, interest on drawing is to be charged @ 10% p.a.


Calculate the interest on drawings of the partners using appropriate formula.
(2)

Ans. B’s interest on drawings Rs. 2,400; M’s interest on drawings Rs. 1,800  

Q. 2. State the Provision of Section 78 of Companies Act, 1956, regarding the uses of Security Premium Account.
(2)

Q. 3. A limited Company has been incorporated with an authorized capital of Rs. 10,00,000 divided into 1,00,000 shares of Rs. 10 each. It offered 90,000 shares for subscription by the public and, out of these 85,000 shares were subscribed for. The directors called for an amount of Rs. 6 per share and received the entire amount except a call for Rs. 2 per share on 500 shares.

Calculate the amount of different categories of share capital.




(2)
Ans. Authorised Capital  Rs. 1,00,000; Issued Capital Rs. 90,000;  Subscribed Capital Rs. 85,000; Paid-up Capital Rs. 85,000.

Q. 4. Journalise the following transactions at the time of issue of debentures:

(i) Issue of debenture of Rs. 100 at 5% premium redeemable at par.

(ii) Issue of debenture of Rs. 100 at par redeemable at par.





(2)
Q. 5. In the absence of Partnership Deed, what are the rules relating to following:

(i) Salaries to partners,

(ii) Interest on partners' loan,


(iii) Profit and Loss ratio.
(3)
Q. 6.  Write a short note on issue of debentures as a collateral security.
(3)
Q. 7. Distinguish between gaining ratio and sacrificing ratio.
(4)
Q. 8. Peter, Roberts and Sunny commenced business on 1st April, 2001, with capitals of Rs. 60,000, Rs. 50,000 and Rs. 40,000 respectively. Profits for the first year was Rs. 50,000 while the losses in the second year amounted to Rs. 14,000. Drawings per partner was Rs. 7,000 p.a.

The firm was dissolved on the first day of the third year, April 1, 2003. Creditors on that day were Rs. 14,000 who were paid Rs. 12,500 in full and final settlement. Cash amounted to Rs. 5,000 on that date. Other assets realised Rs. 1,62,000. Expenses amounted to Rs. 3,000. Prepare the Realisation Account.     

(4)

Ans.  Sundry Assets Rs. 1,53,000; Profit on Realisation Rs. 7,500

Q. 9. J.M.D. Ltd. issued 2 lakhs 5% Debenture of Rs. 100 each at a discount of 6% on April 1, 1999 redeemable as under:

80,000 debenture on March 31, 2001, 

40,000 debenture on March 31,2002, and 

remaining debenture on March 31, 2003.


Ascertain out the amount of discount to be written off in each of the years till the debenture are paid. Also prepare discount on issue of debenture account.




      
     
  (4)
Ans. 9. Discount to be written off: March 31, 2000 Rs. 4,00,000, March 31, 2001 Rs. 4,00,000, March 31, 2002  Rs. 4,00,000, March 31, 2003 Rs. 4,00,000
Q.10. The following balances appeared in the books of Madhu Ltd. as on 1st April, 2002:


12% Debentures
Rs. 1,50,000


Debenture Redemption Fund
Rs. 1,25,000


Debenture Redemption Fund Investments
Rs. 1,25,000


The Debenture Redemption Fund Investments were represented by Rs. 1,30,000, 9% Government Securities.

The annual instalment added to the fund was Rs. 20,600. On 31st March, 2003 the Bank balance before the receipt of interest on investments was Rs. 40,000. On that date all the investments were sold at 84% and the debentures were duly redeemed.

Prepare Debentures Account, Debenture Redemption Fund Account, Debenture Redemption Fund Investment Account and Bank Account for 2002-03. The company closes its books on 31 st March every year. 










        
 (4)
Ans. Loss on Sale of Investment Rs. 15,800,  Transfer to General Reserve Rs. 1,41,500

Q.11. A Company Kalyan Limited registered with an authorised capital of Rs. 5,00,000 divided into shares of Rs. 10 each. The Company purchased the various assets of Kiran for Rs. 2,00,000 and payment is made by the issue of 15,000 shares at a premium of 10% and the balance in cash. 20,000 shares were issued to the public at par and full amount received on application. The Company issued 400 shares at a discount of 5% to its promoters against their services. Record Journal entries from the above transactions and prepare first Balance Sheet in the books of the Company.




                       


(4)
Q.12. What Journal entries would be passed for the following transactions on the dissolution of a firm, after various assets (other than cash) and third party liabilities have been transferred to Realisation Account.          (6)

(i) Bank Loan Rs. 12,000 is paid


(ii) Stock worth Rs. 6,000 is taken over by a partner B


(iii) Expenses on dissolution amounted to Rs. 1,500 and were paid by partner A


(iv) A typewriter completely written off in the books of accounts was sold for Rs. 200


(v) Loss on Realisation Rs. 14,000 was to be distributed between A and B in the ratio of 5 : 2

(vi) An unrecorded asset having a market value of Rs. 1,000 is given to an unrecorded liability of Rs. 700. 

Or

Shanu and Monu are in partnership sharing profits and losses in the proportion of three-fifths and two-fifths. The following is their Balance Sheet as on 31st March, 2003 :

	Liabilities
	Amount
	Assets
	Amounts

	
	(Rs.)
	
	(Rs.)

	Creditors
	528
	Cash
	363

	Reserve
	500
	Investment
	2,080

	Bank Loan
	1,000
	Debtors
	1,960

	Capitals:
	
	Stock
	875

	Shanu
	6,000
	Furniture
	250

	Monu
	2,000
	Building
	4,500

	
	10,028
	
	10,028


They decided to dissolve the partnership on this date and the assets, with exception of the investments and cash, are sold on 16th May, 2002 for Rs. 6,900. The investments are taken over by Monu at the market value of Rs. 2,200 who also agrees to discharge the Bank loan. The expenses of dissolution are Rs. 110. The creditors are paid Rs. 503 in full settlement.


Prepare relevant accounts.

Ans. Loss on Realisation Rs. 650; Payment to Shanu Rs. 5,910; Payment to Monu Rs. 740.
Q.13. A, B and C are partners in a firm sharing profits the ratio of 3 : 2 : 1. D is admitted into the firm for 1/4 share in profits, which he gets as 1/8 from A and 1/8 from B. The total capital of the firm is agreed upon as Rs. 1,20,000 and D is to bring in cash equivalent to 1/4 of this amount as his capital. The capitals of other partners are also to be adjusted in the ratio of their respective shares in profits and losses. The respective capitals of A, B and C after all adjustments have been made, works out at Rs. 40,000, Rs. 35,000 and Rs. 30,000, respectively. Calculate the final capitals of A, B and C and pass Journal entries.
       



 (6)

Ans. Deficiency in A's Capital Rs. 5,000; Excess Capital of B's Capital Rs. 10,000; Excess Capital of C's Capital Rs. 10,000 

Q.14. X Ltd. invited applications for 2,00,000 equity shares of Rs. 10 each at a premium of Rs. 2 per share payable as to Rs. 2 on application, Rs. 5 on allotment including premium, Rs. 2 on first call and Rs. 3 on final call.

Applications were received for 3,00,000 shares. Applications for 60,000 shares were rejected and pro​rata allotment was made to the remaining applicants. Ram, who applied for 9,600 shares failed to pay allotment and two calls and Shyam, the holder of 12,000 shares failed to pay two calls. These shares were forfeited. Subsequently, all these shares were reissued at Rs. 8 per share as fully paid up. Pass necessary Journal entries in the books of X Ltd.
        





      


 (6)

Ans. Allotment money received Rs. 8,83,200; Transfer to capital reserve Rs. 39,200

Q.15. M, N and O are partners sharing profits in the ratio of 3 : 2 : 1. N retired from the firm. On that date, the Balance Sheet of the firm was as follows:


Balance Sheet of K, M and O as at March 31, 2003

	Liabilities
	
	Amount
	
	Assets
	
	Amount

	
	
	(Rs.)
	
	
	
	(Rs.)

	 Workmen's Compensation Fund
	12,000
	Bank
	
	
	7,600

	 Sundry Creditors
	15,000
	 Debtors
	6,000
	

	 Bills Payable
	12,000
	 Less: Provision for doubtful debts      400
	

	Outstanding Salary
	
	2,200
	
	
	5,600

	Provision for Legal Damages
	
	6,000
	Stock
	
	
	9,000

	
	
	
	Furniture
	
	
	41,000

	Capitals:      K
	46,000
	
	Premises
	
	
	80,000

	                     M
	30,000
	
	
	
	
	

	                     O
	20,000
	96,000
	
	
	
	

	Total
	
	1,43,200
	Total
	
	
	1,43,200



The following is additional information:

(i) Premises have appreciated by 20%. Stock depreciated by 10% and provision for doubtful debts was to be made 5% on debtors. Provision for legal damages is to be made at Rs. 7,200 and furniture to be brought up to Rs. 45,000.


(ii) Goodwil1 of the firm to be valued at Rs. 42,000.

      (iii) Rs. 26,000 from N's capital account to be transferred to his loan account and balance to be paid through bank, and loan be obtained from bank for the purpose.

     (iv) New profit sharing ratio of M and O is decided to be 5 : 1. Give the necessary ledger accounts and the Balance Sheet of the firm after N's retirement.
(8)

Ans. Profit on Revaluation Rs. 18,000; L's Loan Rs. 26,000; Total of Balance Sheet Rs. 1,62,400
Or


R, S and T were partners sharing profits and losses in the ratio of 5 : 3 : 2. On 31st March, 2003, their

Balance Sheet stood as under:

	Liabilities
	
	Amount
	Assets
	Amount

	
	
	(Rs.)
	
	(Rs.)

	Sundry Creditors
	
	55,000
	Goodwill
	25,000

	Reserve Fund
	
	30,000
	Leasehold
	1,00,000

	Capital Accounts:
	
	
	Patents
	30,000

	R
	1,50,000
	
	Machinery
	1,50,000

	S
	1,25,000
	
	Stock
	50,000

	T
	75,000
	3,50,000
	Debtors
	40,000

	
	
	
	Cash at Bank
	40,000

	
	
	4,35,000
	
	4,35,000


T died on 1st August, 2003. It was agreed that:

(a) Goodwill be valued at 
[image: image1.wmf]1

2%

2

 years purchase of last four year's profits which were:


1999-2000
Rs. 65,000

2000-2001 

               Rs. 60,000 

2001-2002

               Rs. 80,000


2002-2003
Rs. 75,000


(b) Machinery be valued at Rs. 1,40,000; Patents be valued at Rs. 40,000; Leasehold be valued at Rs.1,25,000 on 1st August, 2003.


(c) For the purpose of calculating T’s share in the profits of 2003-2004, the profits in 2003-2004 should be taken to have accrued on the same scale as in 2002-2003.


(d) A sum of Rs. 21,000 to be paid immediately to the executors of T and the balance to be paid in four equal half-yearly instalments together with interest @ 10% per annum.


Pass the necessary Journal entries to record the above transactions and T's executor's account for 2003-2004.

Ans. T's Executors Alc 1,21,000


Part - B


(Analysis of Financial Statements)

Q.16. Mention any four items which are subtracted from net profit to calculate the funds from operations.      (2) 

Q.17. What are two major inflows and two major outflows of cash from financing activities?                 
(2)
Q.18. Distinguish between comparative statements and common-size statements.      .
                   
(3)
Q.19. Gross profit ratio of a company was 25%. Its cash sales was Rs. 2,00,000 and its credit sales was 90% of the total sales. If the indirect expenses of the company were Rs. 20,000. Calculate its net profit.  

(3)

Ans. Net Profit Rs. 4,80,000

Q.20. From the following information, calculate any three of the following ratios:


(i) Gross Profit Ratio

(ii) Working Capital Turnover Ratio 

(iii) Debt-Equity Ratio 

(iv) Proprietary Ratio 

Information:

        Rs

Net Sales
20,00,000


Cost of Goods Sold
12,00,000


Current Assets
6,00,000


Current Liabilities
3,00,000


Paid-up Share Capital
8,00,000


12%Debentures





       4,00,000 

   
(4)

Ans. . (i) Gross Profit Ratio 40%; (ii) Working Capital Turnover Ratio 6.67 times; (iii) Debt Equity Ratio; 53.33%; (iv) Proprietary ratio 53.33%

Q.21. On the basis of the information given in the Balance Sheets of XY Ltd. prepare a Cash Flow Statement: 











(6)

	Liabilities
	2002
	2003
	Assets
	2002
	2003

	
	(Rs.)
	(Rs.)
	
	(Rs.)
	(Rs.)

	Equity Share Capital
	3,00,000
	  4,00,000
	Goodwill
	70,000
	20,000

	12% Debentures
	1,00,000
	1,50,000
	Land and Building
	2,40,000
	3,50,000

	10% Preference Share Capital
	80,000
	50,000
	Machinery
	1,50,000
	2,00,000

	General Reserve
	60,000
	75,000
	Debtors
	1,00,000
	1,40,000

	Creditors
	95,000
	85,000
	Stock
	75,000
	50,000

	Bills Payable
	20,000
	40,000
	Cash
	20,000
	40,000

	
	6,55,000
	8,00,000
	
	6,55,000
	8,00,000


Ans. Cash flows from operating activities Rs. 60,000

Cash flows from investing activities Rs. (1,60,000)

Cash flows from financing activities Rs. 1,20,000
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